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AQA AS Biology exam practice answers

11 Biodiversity and classification

1
Kingdom, Phylum, Class and Order. 

[1]

(All four gains 1 mark.)
2
(a)
All the base sequences match and H bonds form along the whole length, so more energy is 
required to separate the strands. 

[3]

(i)
Orangutan. 

[1]

(ii)
Any two explanations from:

· human/orangutan DNA has the lowest denaturing temperature

· it has the biggest difference from human/human
· it has the fewest base sequences in common 

[2]
3
(a)
It occurs in all organisms.

[1]

(b)
312 (104 ( 3). 

[1]

(c)
Genes also have non-coding sequences/introns. 

[1]

(d)
(i)
Fruit fly. 

[1]


(ii)
The human/fruit fly pairing has the greatest difference in sequences (caused by) more mutations, so a common ancestor was farthest back in time. 

[3]

(e)
Snapping turtles do have more differences than rattlesnakes. Plus any two explanations from:

· but this is only one protein

· there is an element of chance in the mutation rate

· more proteins/DNA molecules need comparing 

[2]
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